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1 HZER 40 35 75 5.2 69.8
2 HATIE 39 41 80 10.0 70.0
3 HHEER 39 47 86| 12.4 73.6
4 FRILIEH] 44 41 85 11.2 73.8
5 b H IEfE 43 49 92 17.2 74.8
6 WEFRSE— 51 44 95/ 19.6 75.4
7 R 45 49 94 18.4 75.6
8 S HuHFN 46 48 94 18.4 T75.6
9 ABAE = 45 46 91 14.8 76.2
10 ‘P 7 46 39 85 7.6 77.4
11 HFnEw 46 44 90 12.4 77.6
12 &mH&HT 53 48 101] 23.2 77.8
13 KHFHIR 48 52| 100| 22.0 78.0
14 d-FpEFR 52 51 103] 24.4 78.6
15 MAREALER 49 52 101 22.0 79.0
16 FHHR 49 52 101 22.0 79.0
17 JARES 48 52 100 20.8 79.2
18 KB 43 50 93| 13.6 79.4
19 THfEE— 47 52 99| 19.6 79.4
20 ZAEHILZ 53 55 108 28.0 80.0
21 AFRE =2 AR 51 45 96 14.8 81.2
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23 HEHfGE 50 49 99 14.8 84.2
24 KAPEA 60 56 116 31.6 84.4
25 ASE 59 59 118| 31.6 86.4
26 fEPERIE 60 67 127] 36.0 91.0




